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Physical Science Chapter 4: Energy
Wkst: Kinetic and Potential Energy Problems
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1. Caleulate the kinetic energy of a car with a mass of 1500 kg moving at a speed of 18 m/s
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2. A baseball with a mass of 0.15 kg is moving at a speed of 40 m/s. What is the kinetic energy of the

baseball?
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3. A 35 kg child travels with a speed of 3 m/s sledding down a hill. How much KE does the child have at the
bottom of the hill? e KE * ’%'; My .
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4. Which has more KE, a person with a mass of 65 kg traveling with a speed of 5 m/s as they sled down a hill
or the same person traveling with a speed of 15 m/s as they ski down a hill, why?
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5. A bowling balt travels at a speed of 2 m/s and has 16 J of KE as it rolls down the lane. What is the mass of KE .
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6. (L2) An 8 kg history book is placed on a 1.25 m high desk. HoW ™Uch GPE does the book have?
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7. (L2) A 0.0050 kg leaf sits on a branch 4.0 m off the ground. How much GPE does the leaf have?
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8. One of the tallest radio towers is in Fargo, ND. The tower is 629 m tall. If a bird lands on top of the tower and
has 2033 J of GPE, what is the mass of the bird?
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9. A boulder has a mass of 500 kg. If it has 2,450,000 J of GPE as it sits on the edge of a cliff, how high is the
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10. A spider has 0.080 J of GPE as it reaches the halfway point climbing up a 2.8 m wall. What is the GPE of
the spider at the top of the wall?
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